v 3-4-3-6

50
19 20 21 22 23
a
5420 -0 -7 -3 -1 -59 -230
1 -0 +0 +0 +0 -4 -30
2 +2 -3 +0 -1 -34 -157
3 +2 -3 -1 -1 -11 -149
11 +4 -4 -1 +0 -23 -29
4 +1 +0 +0 +1 -7 -36
5419 +1 +0 +0 +1 -9 -69 14
5 -2 -3 -5 — -22 -192 22
6 +1 +1 +2 -1 +9 -7
7 +0 +1 +2 -1 +7 -1
8 +2 -4 +0 +0 -9 -61
9 +1 -1 +1 -1 +10 -2
C +2 +0 +2 -1 +11 +26
13 -2 -2 -1 +0 -5 -52
13-1 -2 -3 -2 +0 -5 -12 18
10 -4 -9 -4 -1 -19 -197
1
A -2 +2 +1 +0 +11 +17
12 +0 -12 -10 -4 -94 -350
12-1 +0 -10 -12 -4 -67 -93 18
14 +2 -9 -5 -1 -51 -103 11




